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This slave-girl is an idiot, etc.; it is an invalid sale

OVERVIEW

The X3 cites a X012, which states; if someone says, ‘this 7n5w which I am
selling you has many defects’ (which he enumerated); however in truth she only
had one of these defects (which if the buyer had known he would not have
purchased her); the rule is that the sale is invalid."
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From this Xn»72 here, there is a difficulty to >''w=2 who explained regarding
this which the X773 states in N2> noon -
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‘There is no 11220 by slaves, for if it is a revealed blemish, etc. the buyer saw it

and he agreed to accept the 72y with this 1. The X313 continues -
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What (11912°0) can you say that should invalidate this sale; that the 72¥ 1s an armed
robber, or he is condemned to die by the government; but these issues are well

publicized; therefore there is no concern. This concludes the X723 -
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And *''w1 explained there the reason why 1172 n°k X5p validates the sale despite the
fact that he a 1" PVO*L is because since it is publicized, the buyer is aware of it

and he considered and accepted the slave as is. It seems from that X3 (according to
"wD) that every sale of an 72y is valid and there can be no 11972°0 (no Myv 1PN).

nvoIn asks:
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And the n'' has a difficulty with this view, for here the Xn>72 states clearly that

it is a myw npn, by these blemishes mentioned in the xn>>2-
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' The buyer assumes that since she did not have many of the (other) apparent defects, she must probably does not
have this particular defect (which she actually had). The buyer assumes that the seller was exaggerating (by
mentioning all these non-existing defects) so the buyer should not complain later.
2 om0 is anything which voids a transaction; for instance a receipt voids a 271 70w, a 2% (which the wTpn was unaware
of) invalidates the 1w 7°p, etc. The X3 there means that there is nothing which can invalidate the sale of an 72v.
? Regarding a hidden blemish (like a scar on his body), there is no concern by an 72y, since he is only needed for his
work (not his appearance).

1

TosfosInEnglish.com



anow "7 "0 RO "2 702

So therefore a 792°0 can be occur by slaves (if s/he has one of these 721
mentioned in this Xn»71), so how can they eat® mmvn —

mooIn offers his explanation of 7% N°X X5p 117"
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And the n''= prefers to explain '\77% noX X%p 1737 to mean that if it is so that this
72y being purchased is a n2%»% 2021 or a 27w -
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There would have been publicity and people would know about it, and since
there is no publicity, there is no concern for this type of 191°0, and regarding
these 1211 mentioned here in this X072 they too are well publicized.

In summation; According to Mmoo there is a Myv npn by slaves if it is found that he is a vV
121 (or any of the 12 mentioned in the Xn»72), but nevertheless he may eat 72170 for we are not
concerned that he has any of these P since 112 N K9P 117, and since there is no ?p, the
presumption is that he does not have these 7m1 and it is a valid sale.

According to °"wn there cannot be a Mmyv npn by an 72¥ on account of 1 2°w*» (and
presumably on account of the P mentioned in the Xn>972), since 7°% N°R X9 1737, so the buyer
was 22°P1 7°20; however our Xn>>12 clearly states that there are 1M1, which create a myw HPD.S

mooIN proves his contention that 7°% N°R X%p 1717 means that it is unlikely that he has this defect,
but if it turns out later that he does have it, then it is a myv npn:
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And so too the expression of na»X X% (what can you say), indicates that 717
172 MR X% means that it is unlikely that he has this defect, but if indeed he does

* The law is that when a 175 purchases an (n)*1v1> AndWw/72y, the 72¥ may eat 717N as is written (X°,20 [11KR] X1p™) that
12 DOR® NI 190D PIp w1 30 °0 19 The question is how this 72¥ can eat 71n; perhaps this 72v has one of these PN
(mentioned in our &n°12) and this will void the sale of this 72y (when the 772 will eventually become aware of it).
3 If one wishes to distinguish between 131 2°vo°? where ;77 N°X X7p so there can be no NMww npn and the P of our
Xn*72 (which have no 93) so therefore there is a myv npn; the question still remains how can an 71y eat 77N,
perhaps he has the 727 of our Xn>12.
o According to *"wM the ([rhetorical] question and) answer regarding »23aw 1m and 117 020’7 are the same; the
rhetorical questions were, perhaps he has a 1732w 0w, and perhaps he is a 7" 0°vo°% and the answer is the same;
we are not concerned for either, for by a "1732w 0w he sees it and by 0°v0°? he is aware of it (since 177 N°X X2p 1717).
So therefore the s'8 13 question regarding a 1" 0°vo°? should have used the same syntax (1Ww?) as by 1232w 11,
namely the word "X' (" D°00°7 X ,"21 "123aw 111 °R); why change it to 'naR *Rn'. However, according to msoin
there is a difference between the questions and answers; regarding a "1732w 0 it was merely a rhetorical question,
for we all understand that there can be no Nyv npn by a "1232w 0w (for H2°p1 7°20), however, asks the X3 there can
be a v npn by a 1N 02D, so maybe that is why you think that o°72y2 11910 w°, nevertheless, answers the X3,
there is no 11910 for we are not concerned that perhaps he is a 000> for 772 N>R X% 1717 and since there is no 7, the
chances of him being a 0°v0*? are minimal. See &"w1n for a (slightly) different explanation.
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have it, it will be a Myv npn, for NNK X2 means ‘in what type of 1192% can you

find that the sale is void -
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By a 1»mn» PUE™® or a MoYRY ansm; for in those cases indeed it is a Myv npn, however
since 172 N°X X9 °17, it is unlikely that he is a 191 117 VO,

mooIn concludes with another proof:
= N2 NP (0'vosY HAnnH 9257 OV 3,38 97 X903 X23) Y929 99991 ¥WrHA)

And in the beginning of the ny7p 121277 P75 we learnt explicitly in a Xn»2 -
179395 79V 591 715 92IX 9915 3NN IN PN PVDY NM)

If the slave was found to be a 197112 P or a Mo%1»® an2w, the buyer can say to
the seller; ‘here is you slave before you’ take him back for it is a myv npn.

SUMMARY
According to (M0 understanding of) >"w7 there can never be a Nyv npn by a

7 V02 or a MIYn? 2 for 9291 7°20; however according to NHOIN we are not
concerned (regarding 7m11n n9°0R) that the 72y is a 191 vo°% (or has the P of our
Xn»12) since these 721 are well publicized. If, however they had these defects it is
a myv npn.

THINKING IT OVER

moon offers two proofs that there is a Mywv fpn by a 121 2°WO°7; one from the P17
Mo of 'nmak >x»',® and another from an explicit xn12.” Why did not mpon cite
the proof from the Xn»92 first?!

7 This proves that there can be a Nwv fip» by an 72y in the case of a 1 2°vo*> and the only reason we are not Wwin
for it, is because it is highly unlikely (since 1712 N°R X2p 1717).
¥ See footnote # 6.
? See footnote # 7.
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